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COMPUTER SYSTEM ORGANISATION
fauifa awg . 392 [3tftremam 37 - 60
Time allowed : 3 Hours| [Maximum Marks : 60
A () FH-mFidTaEE g g/
Note : There are THREE sections in the paper A, B and C.

(i) QFHA-T T N GG 1 F G 10 97T F I AT | TAF YT Q@ HF F 2
od @t 10 971 T8 TR F T F B |

Answer all the 10 parts of the question No. 1 in Section-A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QFA-q F 8 ¥ 7 8 21 6 v & I AT | I G¥7 3 3 1 8 04
g7%1 5 IET / 50 9Kl I G0 |

Answer any 6 questions out of the 8 questions in Section-B. Each question
carries 3 marks and to be answered within § lines / 50 words.

(iv) QFA-TF 6 Fv G 8 fHET 4 FvA & IR AT | I ¥ 8 HF FT12 0d
g7%7 15 57 / 150 Wiegl 4 307 v |
Answer any 4 questions out of the 6 questions in Section-C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v)  F% G & Gt 91 &1 FHER U G 7T HIAC |
Solve all the questions of a section consecutively together.
(vi) i sTaT § 3= E17 @1 Rl 7 3E sar & w8 |
Only English version is valid in case of difference in both the languages.
FRHA - T
Section — A
I, () et ugd e gl 2
(a) Ui (b) fafesfa
(c) wgfesfia (d) Iuired § H HIS @

-

Computer address bus is I
(a) Unidirectional (b) Bidirectional
(c) Multi-directional (d) None of these

(10f4) P.T.O.
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(ii)

(11i)

(v)

(vi)

(vii)

(2of4)
fefres Foger d wera g frmamar 2
(a) 1’s HITGeAHe (b) 2’s HiEgEAHe
(¢) 9's HigeATe (d) 10°s HIgeAtHe
In digital computer, subtraction is performed using
(a) 1’s complement (b) 2's complement
(c) 9's complement (d) 10’s complement
RISC Fegaa @2 # wfd w3k fopaq v #a 8 7
(a) TH (b) @&
(c) dH (d) =W
RISC instruction set have how many instruction per cycle ?
(a) One (b) Two
(¢) Three (d) Four
(iv) U S arversa fe H & i @ =i & fenfea s @ 2
(1) FEm=sam ) faéa = fewre Fen
(3) wTet wd Sl T AT @) fdw =% fegea w5
(@ (HFR)H (b) (HaE@)=H
() (., 2)a@E)= d (1),2),6)3@)H
An instruction pipeline execute which of the following steps ?
(1) Fetch the instruction (2) Decode the instruction
(3) Calculate effective address (4) Execute instruction
(a) (1)and(2) (b) (1)and (4)
(¢) (1).(2)and(3) (d) (1),(2),(3) and (4)
T & aard 2 6 5 A SFEE w2 |
(a) HTS (b) TuHTE
(c) TR d) TR
tells the processor what operation to perform.
(a) Operand (b) Opcode
(¢) Progammer (d) User
Frdfaedt Wt %1 W 2 wfer e 3 seEet S R |
(a) FHIEH (b) IRTA
(c) EaeR (d) TR
Assembly language program is converted into machine language by
(a) Compiler (b) Interpreter
(¢) Assembler (d) User
U Jrdaett W % S 1 3ifew Rede g =R -
(a) HALT (b) STOP
(¢) EXIT (d) END
Last statement of an assembly language program should be
(a) HALT (b) STOP

(¢) EXIT (d) END
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(viii) EPROM &1 901 98 & -
(a) FerEIehe! SumiEd g Fif JE
(b) FoEe YHTHEe fig el Ju
(c) gt wmie fig st Auid
(d) vEEeds g {tg sih furd
Full form of EPROM is —
(a) Electrically Programmable Read Only Memory
(b) Erasable Programmable Read Only Memory
(c) Easily Programmed Read Only Memory
(d) External Program Read Only Memory
(ix) B uga fewifen 2 -
(a) a& e Fomd St UgH o6 | UgH &I s Fa? |
(b) 221 %I USH FH- &1 Ueh aliehl
© (a9 b)aH
(d) o A HE

Memory address decoding is —

(a) the way computer decodes the address on address bus.
(b) amethod to find address of data.

(¢) Both(a)and (b)

(d) None of these

(x) Fre @ 0 i Sigaem de Jehiea 1 W R 7

(a) RISC (b) CISC

(© (@)d () (d) T A HE T

Which of the following is a type of instruction set architecture ?

(a) RISC (b)y CISC

(¢) Both (a)and (b) (d) None of these (1x10)
Faar —
Section - B

2. e gEs F R 7 waY § == Hifae |
What is register transfer ? Discuss briefly. (3)

3. S HEi Al 2 ? Yl 318 i 9aTsd |

What are computer functional units ? Discuss each unit. (3)

4, ewe VL WEE AR ?

What is attached array processor ? 3)

P.T.O.
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10.

11.

13.

14.

15.

FrEae! WY1 H Sdger SEifaed #1 Bid1 8 7 351 U IgTE 4 |

What is assembler directive in assembly language ? Give its one example.

uzy fasdfam @0 2l 2 7 39 fafu= =wor i fafeo |

What is address sequencing ? Write its various steps.

FEEe! Y1 1 SRS S F YedieA & fohan Jrar 2 ?

How evaluation of arithmetic expression is done in assembly language ?

Hurdt ugfam @ g 2 7 fafv= wgfan area & am fafay |

What is memory addressing ? Write name of different addressing modes.

YA T kit a1 BT & 7 Tl & gegaem A anehieat % A fefau |
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3)

(3)

(3)

(3)

What is instruction set architecture ? Write name of any two types of instruction set

architecture.

A — €t

Section - C

AHTOTdta HTgsh! - HTTeE F91 Blan 8 7 4-fae siwnfordig afroy &1 s=730 3 gaemso |

What is arithmetic micro-operations ? Draw & explain 4-bit arithmetic circuit.

AT - = fod g ROM &1 $2ThfEm i #93msu |
Explain interfacing of ROM with neat diagram.

FHITATE ITE9ATEA 1 ISTEWT ZRI GHSATIT |

Explain arithmetic pipeline with example.

STHEE! 9T 1§ il S F91 BT 8 7 39 Ueh NI g 9IS |

What is call instruction in assembly language ? Explain it with a program.

qurter @3l & fhawre uige a1 feuw #i faeam & wwsmsu |

Explain fixed point data representation of integer number in detail.

e TETET 1 IR gRI GHSATIU |

Explain vector processing with example.

(3)

(8)

(8)

(8

(8)

(8)

(8)



